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1. F X En=100 ~ p=0.1= Fis5fel» JIP(X <13) 47 5[ -
(A)0.82 ; (B)0.85; (C) 0.88 ; (D) 0.91 ; (E) 0.94 -
[Eﬁﬁ 1(C)-
},u—npzlo s o= \np(1-p) =3 VRS EY L -

P(X <13)=P(Y <13.5)= P(zs 135710

= 1.167) =0.8783

2. F X pu=10 ~ 0'=4;[/ﬁ TESTE > P (4< X <16) B[l ¥H -
(A)0.78 ; (B) 0.82 5 (C) 0.86 5 (D) 0.90 ; (E) 0.94 -
[Eﬁé'ﬁ] (C)-

P(4<X £16):P(4_410£2£ 16-10

3

J: P(-1.5<2<1.5)=0.8664

3. F M- A BEINE 0.2 I B BV | 4% 64 fUBE © HIBA Ef 0.1
RFE2 05 =3 = SURL] | Ty I
(A)0.78 ; (B)0.82 ; (C) 0.86 ; (D) 0.90 ; (E)0.94
[*?JZ%F;T] (E)-
p=02 -~ n=64 -
_yP(-p) _02x038

= [_‘_‘ t’r = = =0. :_I/'),’E - Il:[ o
BA P Hy=p= 02 -~ \/ﬁ \/6_4 0.05 ﬁ'JrJ 7Jf
P(EZO.I):P(ZZO'égg'z)zP(zzz)zo.WU

4. i fitfe 1 50 [ B BRIV 100 (2 (B4 » B4 T 15595 600 - T
OBY6F ™ » B A & B
(A)5: (B)10; (C)25; (D)50; (E) 80 -

[EF =Y1(B)e
=50 ~ N=100 * 1-a2=95%—>7=1.96 -
50
e=7x-2=196x——=9.8
Jﬁ J100

5. F%?J[%j*%%?@%‘\'fx\ Y~Z> var(X)=1> var(Y)=2 > var(Z)=4 > cov(X,Y)=-1> =
X~ Y & Z EE o [l var(X +Y +Z) @5l
(A)5: (B)7:(C)9: (D)11; (E)13 -

[EF J(A)-
Var(X +Y +Z)=Var(X)+Var(Y)+Var(Z)+2cov(X,Y)=1+2+4—2=5
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6. Fi'?Z 2X+Y o E XS Y AHZORE > X u=3 - o= ZFIJﬁ fE e Y R u=2 ~
0 =3V« e FRRY I EY 100 [ p fIER(E 2
Ginp
Z=2X+Y BT - p=2x3+2=8 > o= 4x2°+3% =

10-8

p=P(Z 310):P(z£ :0.4):0.6554

7. SR ISR AR - ARSI 64 ¢ [US AT 32 1 AT L
%Fﬁr r?[lﬁ{t@ rt: 95%[F[ﬂ%ﬁﬁ_& F”lr[ﬁﬁlﬁrf H] o

it
32
p=22-05
P~
T
_tx—M=196x—“0'5XO'5=O.1225

W e

C.1.={0.5£0.1225} = {0.3775< p <0.6225}
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P ;—g;n 3% E'[J:iﬁmé'“ et (A4 B R

(Eﬂﬁ
2 2 2 2
n> 20 196 X0y 067 11~ 1068
£ 0.03
9. X UEFIFIE (2,6) [0 F 3[R« Ghifilt X T Q0%6(Fti% ™ [0 feiBa] -
[EF’EFAT]
1 1
F =5.1443 - F = = =0.0517
2=0.05,df =(2,6) a=095.df=(26) ~ £ 19.330

@=0.05,df =(6,2)

Cl ={0.0517 < X <5.1443}

10. B4 X, X, B idd. o FpI Sy ~ BEE o put/Eg " E

v — X, +2X,+3X,+4X, v = 5X,+5X,
1 s 2
10 10
i SR PSR, - Y, Ry fhE R P
[EJ%FAT]
12422432442
V(Y)=v x1+2x2;)3x3+4x4j:( i )02:%02

5X,+5X,) [+ 50
V(Yz):V[ 110 j:( 100j‘72 100° o’
V(Y)<V(Y) o Y, ALY, -

©2009 [jfrmH R - HIF 2/3



FAF+tEIRNER

nl o= 0.025 o= 0.05 o= 0.1
n2 2 4 6 8 2 4 6 8 2 4 6 8
2 39.0000 39.2484 39.3315 39.3730(19.0000 19.2468 19.3295 19.3710| 9.0000 9.2434  9.3255 9.3668
4 10.6491 9.6045 9.1973 89796 | 6.9443 6.3882 6.1631 6.0410| 4.3246 4.1072 4.0097 3.9549
6 72599 62272 58198 5.5996( 5.1433 4.5337 4.2839 4.1468 | 3.4633 3.1808 3.0546  2.9830
8 6.0595 5.0526 4.6517 4.4333 | 4.4590 3.8379 3.5806 3.4381| 3.1131 2.8064 2.6683 2.5893
10 54564 44683 4.0721 3.8549( 4.1028 3.4780 3.2172 3.0717| 2.9245 2.6053 2.4606 2.3772
12 5.0959 4.1212 3.7283 3.5118 [ 3.8853 3.2592 2.9961 2.8486| 2.8068 2.4801 2.3310 2.2446
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